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SR T, ZELADIEC K> THRERD
ZDS/REDYIIZITD

age OEN 11LLF — 500
128l F  — 1800

R Tage <= 11] OEDITHD



D Python 7’0020 5 /s

age DEN 11LF — 500
128l F  — 1800

age = 18

if age <= 11.:
print(500)

else:
print(1800)

Z4(F Tage <= 111 DLDITRRD
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Fralibese Aok

» Trinket (A>T A >D Python, HTML FDOFEZFYA b

- BRlOREE EERNOEEEN DD

- BODMERR UTE Python OS5 AZLKU. MDAICSE
FTUTESSIENTIR (2DEE. ESBACETHH

YN
HE

. Python DIEEMEEEZH. DM, KOES 1 —IJLA®
SR —SHA DR h—ILiEH

math, matplotlib.pyplot, numpy, operator, processing, pygal,
random, re, string, time, turtle, urllib.request



trinket TOTOT S AZELT {.
e trinket (& Python, HTML IREDT OV S LEZEZTRITCTED
HA1 &

 https://trinket.io/python/0fd59392c8
DELDIC, BDITOTSAICITED URLHEIDHTEND

A& / My Trinkets / si1-1 o — \\J;
N
<17, STOP KX~
= ) trinke v | ?Modules

< > mainpy + 2B Result
1 age =18
2+ if age <= 11:
ppppp (500)

se:
print(18e0)

\/_XYzl_l\\\@ |—'—|/—sz
X A EE EITHE R
s EITAAB LRV ESIE. [RITIRF>] TERIT
« V—RXO— R =zETBATHERITI DL 8
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o DI
o if
» else
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@ trinket MIRDNR—>% i <
https://trinket.io/python/0fd59392c8

@ FE1T9 D, 1800 "FT_IRETNDBZ &= ER

Result

Powered by Jtrinket
1800
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® lage=18] %z lage=10] (CEEZERXD

< > mainpy +2 B
1 age =10
2~ if age <= 11: Powered by ]
3 print(500) 500
4~ e:
5 print(1800)
A

@ EIT9I D, 500 BWRERENDC & &=MER

UlToS

Result

Powered by = Ptrinket
500

® age DfEM 8, 9, 10, 11 DEE (L 500 (CIRD,
12, 13, 14, 15 D& (X 1800 (CRD C &= iE:R

Fralibese Aok
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c KDL, FEDERMGFICEDWNT, BERDIBREEDZ

CZr]EE(CT D

F— ) — R {EH

» Python DFEERIZE TS, if, else 1R E DA

HDRBLEE T, 1MIRUATOFoY hE, 12ERULEDOFT WV &

TIEEDEVWNSDD LS, N KZE
EZBHTED

age = 18
iIf age <= 11.:
print(500) age<=11 D & (X, pr
else:
orint(1800) | T2 THLIE F L, print(1800) AT NS

LT, Fov MY

int(500) A"ETE N5
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D Python 7’0020 5 /s

age DEN 11LF — 500
128l F  — 1800

age = 18

if age <= 11.:
print(500)

else:
print(1800)

Z4(F Tage <= 111 DLDITRRD
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Python Tutor {

el ise Aok

Python 3.6

¢ PythOn TUtOr C‘:_L\5'j17“ﬂ known limitati
£ REFRIFALLS —
http://www.pythontutor.com/ if (x > 20):
print("big”
else:
* Web T SOYZFES>TI7 I _ print Cona
ATED for 1 in [1, 2
S =8+ |
“ print(s)
» PythonTutor Tl&, Pythonlz .

LTT“@(/ Javal C’I C++’ axecuted
JavaScript, Ruby I2&, %< o
DITOUVSZIEEZFESN

CENTES. <<First] ['<Prev
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Python Tutor DfER7E

Fralibese Aok

@ F9, DI IS5 %=L
@ Python Tutor ZFJFHI B7z8b(C, LUFD URL (C
70t X

http://www.pythontutor.com/

® [Pythonl] Zz20Uwvwo = REEIEAHFH <

Learn Python, JavaScript, C, C++, and Java

This tool helps you learn Python, JavaScript, C, C++, and Java programming by visualizing code execution.
You can use it to debug your homework assignments and as a supplement to online coding tutorials.

Start coding nojv in Python, JagaScript, C, C++, and Java

Over 15 million people in more than 180 countries have used Python Tutor to visualize over 200

million pieces of code. It is the most widely-used program visualization tool for computing education.

You can also embed these visualizations into any webpage. Here's an example showing recursion in Python:
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Python Tutor OfREEIEIE {

Fralibuse Aok,

Python debugger - pdb interface to Python Tutor - Learn Python by visualizing code (also debug JavaScript, Java, C, and C++ code)

wrte cove | pmmze <] | Python 3.6] (C71&D> TS

I54%
(O L ZESZRMRIDICENTES)

L . =/, — A ~
‘ Visualize Execution ’ ;é'fj_@jt_&)@/ | \9 —
hide exited frames [default] v [_inline primitives, don't nest objects [default] V]

[draw pointers as arrows [default] V]

Show code examples

[Generate permanent Iink”
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Python Tutor TDJ OO0 S AZELT x.
 Python Tutor (& Python IREDITOVS LEEETHRITTED
HAa &~ AFYIRIT. BHOMERFREEDEEN DD,

 Python Tutord® T YA MMZ77Ot X, [Python] ZiER
https://www.pythontutor.com/

A A > iEEIC
AAVEET, AT LEEC ROICE R DIE%
Write code in | Python 3.6 v Edit this COde ;FE'%LI;E/\] (/:
. Python 3.6 EEE?S\ 'f“ % %)
e Global frame
X 100

B % 51T Last
ATy TETMHORR

Visualize Execution K X >/



Python Tutor TOT OO0 S5 LAEITFIR {

Write code in | Python 3.6 v |

Python 3.6

— x = 100
Edit this code
eeeee ted
xecute

<< First < Prev Next >
Step 1 of 1

‘ Visualize Execution ‘

(1) [Visualize Execution] Z727  (2) [Last] &2 w /.
Uw U CERITEEICIDERSD

Python 3.6
(known limitations)

Frames
x = 100
line that just executed

x 100 = next line to execute

, _ (4) [Edit this code] =72
() HTREEHRTS. 1)\ H CIREEECRS




Python Tutor A _EDFEREAD .

Falibese Aok,

RTEME T, FWIS—AVvE—IHhHDIIENHD
BEDSGE= X (CE Y DB,

EAR(C(E, WAL TR

MR EZ (S [Closel

Python Tutor: Visualize code in Python, JavaScript, C, C++, and Java

Python 3.6
(known limitations) Frames Objects

=» 1 x =100

[ You just fixed the following error:
Edit this code B k- 100!

line that just executed
== next line to execute

<<First| (< Prev| [Next>) (Last>>) SyntaxError: invalid syntax (<string>, line 1)

Please help us improve this tool with your feedback.

B Step 1 of 1 What misunderstanding do you think caused this error?
Customize visualization ‘ ‘

| Subm@ | Close| Wde all of these pop-ups
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Python Tutor A _EDFEAQ .

Fiadibise Lok

[please wait ... executing] MESE, 1 0FIFEFD.

Python Tutor: Visualize code in Pythi

I Please wait ... your code is running (up to 10 seconds) I
W v

rite code in | Python 3.6
1 k = 100

* Python Tutorb‘:E—.:’r"Eb"CM%c‘.‘.%, [Server
Busy - - - | ERRENDIBENHD.

e COXAVET—2(F, H—)UWNEMUTWBCEZRT.

 BIHSHTFOHEBTUENMAFTSD(II I (L
MU, }ERHDNEDSIRWEEE, BEZES—EiRUT
<FEELY) 59




[FrEYDIX]
* Python Tutor
- FF

. LAY
o if

e else
« ATV IET

Falibuse Lok
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ATV ITRIFICL DR TEDR & .

Falibese Aok,

2Ty TETICEY, Py T OKRFEERE

Python 3.6 Print output (drag lower right

:/\\ aY ~ 70@ age = 30
7[(%%%/_7—\3— if age <= 12:

I
)
s 8 3 pr int (500) Frames
? else: _ Global frame
- 5 print (1200)

age 30
Edit this code

- THOED
O Enlb\:&)fgé

| << First ‘ ‘ < Prev | NEXIE:'" Last >>

Step 3 of 3

2Ty TEITIL.
RV PR TAX—Tavy bA—IL
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Python Tutor D#C &)
O UIIISIOYZEHTD

Fralibese Aok

@ Python Tutor Z{EULNZULNDT, RD URL Zf <

https://www.pythontutor.com/

@ [Pythonl] 220wl = XA H

Learn Python, JavaScript, C, C++, and Java

This tool helps you learn Python, JavaScript, C, C++, and Java programming by visualizing code execution.
You can use it to debug your homework assignments and as a supplement to online coding tutorials.

Start coding nojv in Python, JagaScript, C, C++, and Java

Over 15 million people in more than 180 countries have used Python Tutor to visualize over 200
million pieces of code. It is the most widely-used program visualization tool for computing education.

You can also embed these visualizations into any webpage. Here's an example showing recursion in Python:

nAaL__ n r

DY <
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Falibese Aok,

@ Python Tutor I« A TROTOT
LT AND

age = 18

if age <= 11.:
print( 5@0)\ if (age <= 11)DERIC [:]

elser else DEEIC H
print(18600)

Ul B W N =

FFIFHIEREIC!
print DETIC, [X 7 (Tab)] & 127=1F | 256
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Fralibese Aok

1 age = 18 1 age = 18

2 1f age <= 11: 2 1f age <= 11:

3 print(500) 3 print(500)

4 else: 4 else:

5 print(1800) 5 print(1800)
IELLBEWETIS IELWFETIF

[del&F — | & & EL
ANNSY =S

217



® BERITIDTHIC, [Visual Execution ] 7&{
OUwo. 2UT lLast] Z0Uw74. &R 1800
%EEDID\

Python 3.6 Print output (drag lower right corner to
known limitations 1800

age = 18

I T age <= 11: Frames Objects

print (500)

else: Global frame
print (1800) age 18

Edit this code

acuted
e =SNG

1800] 7 HERY
[<< First] [< Prev] Next >

Done running (3 steps)
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©T0OU S ARITZRVDITICR I IRF
[First] 220w 2O UT, BHIDITICEYT

Python 3.6
known limitations

age = 18
I age <= 11:
print (500)
else:
print (1800)

Edit this code

executed
xecute

Prev | | Next > Last >>
Done running (3 steps) 29
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Fiadibise Lok

@ [Step 1 0of 3] &EFRRSNTLDDT,
2EC, ATYVIHI 3 HBIZENDTMID
(R TEE, TOUSLDITEITES HD)

Python 3.6
known limitations

= | age = 18
if age <= 11:
print (500)
else:
print (1800)

Edit this code

ecuted
cute

<< First | | < Prev | | Next > | Last >> |
Step 1 of 3 30



® AFYVIRITUIZLDT, [Next] #OUw {
OURES, REOOBEEHERE. o

X [Next] RY>=MEEMNMNMIUvIOL, ENLL
ESDHIRLIEDZBRT

Python 3.6
known limitations
age = 18
» — IT age <= 11:
%c‘_’_c_Z) irint(SOO)
SY>2IJ9BECA - or int (1800)
Edit this code
xecuted
acute

<< First | | < PreLast >>
Step 3 0 31



© First, Prev, Next, Last 7|'§/9><‘:7\5/|’9“—(CJ:¥5
£0FODS LETEHIHLTHB .

Python 3.6
known limitations

age = 18
— I age <= 11:
print (500)
else:
print (1800)

Edit this code

line that just executed
=) next line to execute

Step 2 of 3




AA > EmEICESBIC(E. [Edit this codel %‘:i;
w7

Python 3.6
known limitations

age = 18
I T age <= 11:
print (500)
else:
print (1800)

- executed
axecute

[<< First] [< Prev] Next > | Last >>

Done running (3 steps) 33
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@ weight EREDEZR(IZIRODED
weight DfEH 100 F — 0
100&KDXEWN — 1000
@ weight =80 [CEREUTCT A METT
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trinket D X —<
https://trinket.io/python/62f74d3bfc

Falibese Aok,

A My Trinkets S11-2

Ptrinket » Run v 2 Modules

<> main.py + 2 [ Powered by

(%
1 weight = 80
2~ if weight <= 100:

3 print(0)
4~ else:
BN print(1000)
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Python MU X .

CUZ N, ESOEREEETES o
CUZ COERCHIEFEEES. BEFOESE 0SS

EES
« UXMDERIFZEEDGE FULWEFERDEA, BFEOESE

DHIBRH A EE

4 = REIZHEA
list list
0 1 |2 |3 4 [:> 1 |2 |3 4 5
15 | 8 | 6 | 32 | 23 15| 8 | 6| 32 | 23 | 4
8 D H|Ex
list
0 1 2 3 4
[:> 151 6| 32| 23 | 4 39
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1. HDOBEZK

6 HIL30HETHD. 7HIE31HFITTHD.
X DDIDEDZEIFERIRNCLICTD

@ trinket MIRDOR—=Z i <

https://trinket.io/python/88a728c3cb
@ E179 D, 30, 31 BRR=NDZ =R

)trinket P Run ? Modules

< > mainpy + & B
ays = [0, 31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31] Powered by

d

print(days[6])

print(days[7]) 30
31

Fiadibise Lok

R 8AYIRHICDWTERRTEDBLDIC, JOUVSLAEEE

UEITUTHD
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AR

2?2 Modules

Dtrinket >R g5 o
iy iy

% 8, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31

p;int(da;s[s])
print(days[7])

6 HDER. 7HBDERDRR

5.

Falibuse Lok
Powered by
30
31
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2. STEOZEDERU

@ trinket DIRDR—=7Z [ <

https://trinket.io/python/cc2¢13d793
@ E179 D, BRMEDRRIND C &E=HERR

Falibuse Lok

) trinket »Run ~ ? Modules

< > mainpy + L [

1 x=1[8, 6, 4, 2, 3]

2 y=1[0, 0, 0,0, 0]

3~ for i in [0, 1, 2, 3, 4]:
4 y[i] = x[i] * 1.1

5 print(y[i])
6
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i| = x|1i
print(y[i])

[y[il] =x[i] *1.1] &
| DIEZZEXRDS
SEl¥EDIRY
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E

=y Fab:- 3 i =E i

PiliFase Sok,

iR zg &9 & 9.8 x (BFfEl)? +
<.

(ZKIEFLITERT D)

2 D73, EHTL)

@ trinket DIRDR—Z7Zx <

https://trinket.io/python/e27702ef75
@ E1TIT D. BRPBV/RND =R

<

> main.py + 2 [
1 x=1[0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10]

2~ for t in x:

3 print((9.8 / 2) * t * t)

4|

Resi

by ~ Dtrinket
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4. URXSDEHTIT, BHROEBAEHIG B

Falibuse Lok

x =[15, 8, 6, 32 ,23]
print(x)
x.append(4)
print(x)
X.remove(8)
print(x)

@ trinket DIRDR—7ZZ2 <

https://trinket.io/python/f33df42c8d
@ 55'??3_5 o %Eb‘ﬁEéh% — &.%ﬁﬁﬂlb\

= Ptrinket » Run  ~ 2 Modules

< > main.py

x = [15, 8, 6, 32 ,23]

print(x)
X.append(4) [15, 6, 32, 23, 4]

1
2
3
4  print(x)
5
6

X.remove(8)
print(x) 46

e e e
[15. 8. 6 32 23. 4]



https://trinket.io/python/f33df42c8d

R ~DTOPS LB .

Palebuse Lok,
)trinket > Run = ? Modules
main.py + 2 [ | Powered by
| June
# )X FDERK
months = ["", "January", "February", "March", "April", "May", "June",
"July", "August", "September", "October", "November", "December"]
print(months[6])

47



i)
=
=
=
=

I .

1 -
| -
| -
1

Rl

i -
=
=

Ay

-~

,.alll"ﬂllllllll‘ |
el | 1 [T T{TTTL]]

-
»”
AN
/‘l.
oy F

4

OA>Ea1—ATOI OS5 LAERTIE. BERT
hEAR
BEETCE. TOVSAIR. BIHOSREET—EICE
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@205 LADFTNOHIMH (FEDIE, #FDIR
L)

DI (if7RE) WEDIRL (for /) (X, O3S A
DOFENHDEHIHEND, REDIEETIL. BEDIBDDHET
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QIEBDT—HZ2FTLHTH/OI VR
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Falibuse Lok

- ERERTE. TO95LZRINSREBETEICEITID

« ATYIEITIE. 0935 1179DRTL. HTEICTO
D35 LhE—RFILTD. TOIS5LDOEHFEHMMN<ENTED,

o AR T(E, ZEHOANDIEC KD THERERMZED D/ E DR
Z112. s (age) D11BITF CTHNE500%Z., ZNELETH

NE1800= I DLV TizEE. FAK(L lage <= 11]
ETRD,

e PythonOU R M., #EBRDERZ—EICHFFCED., UXBD
EXRFEFZFE., HE5EF0HS5IGEED.

months — [Hll, "January", llFebruary , MarCh", llAprilll, IlMayll,

"June", "July”, "August”, "September", "October",
"November", "December"]

print(months[6])
« OIRL: #&DIRUETE TR, S EDGEZMEHBITS.
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